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1. wﬁmﬁ?wmmﬁmaﬁ%ﬁw: s

. 1x8=
Answer the following/Choose the correct
answer .

(@) 5 T TeATE TSI o |
Define gross national product.

(b) ‘e Fe v e F "’
&% SRECHT I SRR ?

“Supply creates its own demand.”
The statement was propounded by

@) & @ =/ J. 8. Mill
(i) cofeT @G’ / David Ricardo
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(2)

(iii) g/ Adam Smith
(v @ R &/ J. B Say

The Quantity Theory of Money given by

Fisher is expressed by the equation

) M=kP
(i) P=%

(i) B =MV+MV’

@ p=2

kT

(d) (% TCe ‘S vifkAl, AT @6 o oy
ARET TR Fee a0

(3797 (1 =1 f3720)
According to Keynes, “Effective demand

is determined by aggregate

supply
function

and demand

aggregate
function”.

(Write True or False)

13—9000/1034 ( Continued )

() ¥R
Credit Creation

(i) S e
Accepting deposit

(i) AT =% W@ @ e
Making loans and advances

(iv) & @ o

Issue of paper currency

() TarEfes e, e ww-ae i R
2Rk

During inflation, the condition of fixec
income earners are

() CEEF woas =
adversely affected
(ii) FICENS T I o
benefited all |
(iii) QTP AR
remaining same
(iv) @R «bore T

None of the above

(i
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WWWW@WW@W?

@ . is the bank
llowing i €r of th,

P, W aaz / Commercial bank
i) Qs / Cooperative bank

(itt) @ T
e 3@ / Industrial bank

) < e T ST SRR

Modemn theory of international trade was
propounded by

@ R/ Ricardo

(i) @R / Haberler

(iii) zzr-afiw / Heckscher-Ohlin

(iv) wrem e/ Adam Smith

/ Central bank

2. R con viEA 57 G FrT (AfSCET 150 g
foev9) : 4x4=1¢

Write short notes on any jfour (within
150 words each) :

(a) EfER ColT kTSl
Marginal Propensity to Consume (MPC)

(B) ¥& IFT TeofmA

Gross national product

~-9000/103
g ( Continued )

(5)

() Wﬂwwm@w;ﬁm

Differences betw .
and cential bk een commercial bank

(d) TR e T
Marginal Efficiency of Capital (MEC)

(e) TF M I ATHa

Free trade vs. Protection

0 wR

Inflation

<o 2HIAA T foran (2ifcEt 500 1 feeas) :
answer the following questions (within 500 words

each) :
3. (@) T E AW FA AR Ao
SrTs B T oo FAE SRerTRR
TS B T A IR TS TS A

1w TrEy A 6+5+1=12

Discuss different methods of computing
national income. What are the problems
of computing national income in India?
Name the organization which
associated with the computation of

national income in India.

is
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4. (0)
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bank in India.
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( Continu.? | L'
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(6) | -
ol / O !
. p  OIfBAE e
ol 1\9 [::P ! ie 1 s
D) Jl‘dm’ﬂ\') X ‘—4;.(;11:“ .pH L auig! (‘-ﬂnmpwg ;“M]] ) 1441 / Or
O3 ] e ) ) K/ C’I ol]l < b
! i llll(‘.l'()(,‘(:()n()lnICH1’ Explain el '”. Il -
Wh'ul ;“"f,lc!tfl'i““"'q of mu(:roc(:onomic“) {Jmcunu various methods of credit control
main T-l:h |it'i mitations: oy the central bank of country.
py stating 1 . : .
y " 6. (@) Frfer et wgh wma wmi wm
« anfid efar 40| o el e fa 961 9 %mmm:[q T4 741 8+3=11
L 10"-1:..; Explain the classical theory of
Explain various functions of money, ‘ employment, Mention its limitations.
oXplt ' )
W?fut is near money? Y44/ Or
ged1/ Or (b) c1 vl 6 7 o FfA sz frsma =1
2+9=11
What is consumption function? Analyse
. - i tion
3 q @4 ﬂﬁ\ﬁb“l‘ﬂm HACETbATY the .determmants of consump
(b) T 0{941‘1“0"@' | function.
Il . ~
" i s the Cambridge version 7. (a) SEzARE AfE T & @ AR
Critically discuss | i
of the quantity theory of money. | % SR AR A %e (A AL
i YA F41 | 2+9=11
g1feifee . ' What is international trade? Explain the
07 2 27
5. (a) AR AT AT e i [ fundamental differences between
Qrfiadrgz f 62 e 4B1 24 DAl 4eT international trade and inter-regional
e @ T 149+1 | 1j=  trade.
What is commercial bank? What are the . g2@1/ Or
functions of commercial bank? Discuss | b) @ A AT warh ReE 74 | 11
Name a major public sector commercia, I

Analyze the Purchasing Power Parity
theory .
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